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8| 7] 6161[ED HAFR HF-1 3.10.71
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8| 10[ 2149(FAK BE=X i 3.13.44
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3 1 3] 3387|FEH =F mEr-2 5.01.24
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6l 1 6] 1920[ILA ZHFLK #HE-3 5.09.70
7l I 7 795|%0 EXx EE-2 5.10.80
gl 1 gl 1907|F#% M #HE-3 5.12.84
1 9] 1962[/MNREFE | KK-3 5.13.21

I 1ol 2047[lLF & FHI5-2 5.14.23

1] 11] 3472[2%% #EF HE-2 5.14.32

1] 12 1936[XR¥WHRF |#F-2 5.17.04

1] 13 1860/ k% #&EF BHE-3 5.17.49

1] 14] 23122 EH S1UFER-3 5.19.47

il 150 1917[@)I EFE #HE-3 5.20.17

2 1 2090|1Ri& #RF HF-3 5.24.02

2 21 2016[IlLH #F FI5-3 5.25.13

2 3| 1906(FER%E 1t #HE-3 5.25.29

2 4 1919|=IB4ERM M -3 5.25.45

2 51 2237|#% H3F BlfE-2 5.30.06

2 6]  3427(Z@A ER& BlUgER-2 5.31.95

2 71 1913[EEEMRE  [#HFE-3 5.33.58

2 8l 1869|E3 ®EHAM HE-3 5.34.15

2 of 3431{IE E BILUPE-2 5.34.29

2l 10l 8169 KF =7 BIfE-3 5.44.86

A 11l 2111|=E =& HF-2 5.44.90

2l 12]  1861|BEy EfR HE-3 5.51.07

21 13|  3426|EE FJE glgEs-2 5.51.66

2l 14 2165[AE EBE BE2 5.58.39

2 15]  1905|#R4 RRE #HE-3 7.18.73
31| 2208/ L M= |ElE-3 5.40.03

3 2l 2112;B1FF B HR HF-2 5.45.45

3 3l 1866|HTF F& BHE-3 5.50.22

3 4]  2046[tHEH =T FRI5-2 5.50.31

3 51 2240l F BEE BlfE-2 5.50.51

3 6l 2238|81% EMH ElfE-2 5.54.52

3 71 2206| kB KkEFE  [BIfE-3 5.56.60

3 8] 2098(dh#E E=H HF-3 5.57.92

3 ol  2154[ILA 73 B2 6.02.45

3| 10] 2235[FE EZE BIfE-2 6.08.95

| 11 2239[=A FitA ElfE-2 6.11.24

3| 12] 3435|#EH #HE g1 ER-2 6.18.33

I 13l 1910[EF &£ HE-3 6.22.85

I 14l 3925|#@4B EE g1l-2 6.31.73

3l 151 2038AI& HE FHRIUF-2 6.35.09

3] 16] 2236|ptEH MER  [EIfE-2 8.24.21




v

& F  100mH EEiER i,

WEl#E|IE] Fon—] & @i iE-F5F | &k JE
1 1] 1] 31320 #&m [FH:3 16.69]-3.4
2 1| 2| 3343|F EBR XKiF-3 17.62[-3.4
3l 1| 3 T79/MNEy ME |EE-3 18.24]|-3.4
4] 1] 4] 2307(NA #PE |EILDER-3 18.59]-3.4
s 1] 5] 2922|F% EE O [WABREE-2 18.65[-3.4
71 1] 6] 2157|188 BE |SHyE-2 18.96|-3.4

1 7] 2037[EBFEEF [FHRIK-2 DSQ
6] 2[ 1| 3429[daH X=FH |[BIUPEE-2 18.91/-0.7
8l 2| 2| 2011|[#&X& EMl |FLiE-3 20.04[-0.7
2 3] 2162[#hK BF |SHyiE-2 20.21]-0.7
2| 4 2082|#)Il #£E [BAF-2 20.53|-0.7
2| 5|  2099|h#t Fix [BF-3 20.97[-0.7
3| 1| 3437|mll 2= |@&ILuas-2 20.91]-1.3
3| 2| 3698|#%kEk HIE [BF-2 21.10[-1.3
3| 3] 1902|#EAT BF  [#HF-3 21.27[-1.3
3| 4] 2004l EF |[BF-3 22.04]-1.3
3] 5| 2039|EHE EZ=[FRIB-2 22.60[-1.3
3] 6 2091;@HAMEE [BF-3 2291[-1.3




b ¥ EEHK FriiiE R
Ay sor] Fonv— £ HI E-F5 S0 8%

1| 6037|FF# FEir  [#HF -1 1m10
2| 3430|124 FtE  [BludER-2 1m10
3| 3436|HE Bt |RAUFE-2 1m10
4  2163[Fm1 hD  [EyiE-2 1m15
5| 3138|ZMH ) [FB-2 DNS
6] 3432|FARHEF |BUFE-2 1m15
7] 1944[lLEARKHE |#F-2 1m15
8] 2914|=TF #E |#RFE-3 1m25
o] 3362[3F ME -2 1m15
10] 2018]#ik KFE [FHRIK-3 1m15
11 2101|&&X E#FE [BF-3 1m15

8 12] 2910/ K#E % {ABR7E -3 1m30
13[  2309|/vék #EED  |BILgER-3 1m25
14| 3358|300 &AM (K2 1m20

5 15[  3471| KM /MEE BE-2 1m30
16  3828|/MIl ¥IE  |#ABRFER-2 1m20

5 171 2092|ERH BE [BF-3 1m30
18 3834 |5 HE ABR PSR- 2 1m20
19]  2922|F%Fm FEE  [HAMREE-2 NM

8 20| 1965[FK FEF [KXK-3 1m30

4 21 20151 mE | FHRIEE-3 1m35

7 22|  2307(|HH #»FE |BludER-3 1m30

2 23| 2274|El ABE  |[81l-3 1m35

2 24|  2095(HF E#H# |BF-3 1m35

1 25| 1967|[BHEEXR |AK-3 1m40
26| 1938[HIHNBE [#HF-2 1m20




ZF  FENZHk FEER i}

WElcyNsmel fon—| £ i -4 | &fx &
Al 1] 3439]i8;F XEiE B2 4m17]+0.7
Al 2 200/EH = FARR7H - 2 3m77[+1.0
A 3] 2006| EE #< FHREE-3 3m57[+0.9
Al 4] 200554 BF FHRUF-3 3m38[+1.0

Al 5 192| R¥H & EE-2 DNS
Al 6] 2232]fkE EH ElfE-2 4m06[+1.5
Al 7] 3438|m15 EE gLdER-2 3m57[+0.7
Al 8] 2008& FH TR -3 4m16[+0.6
Al 9| 2310/E® 3FE gL E-3 3m33[+0.7
Al 10[ 1912|8K EK HE-3 4m00[+0.6
Al 11] 2305|— R &7 EEESER 4m01[+0.6
Al 12| 2102[BT8 &H=E HF-3 4m26[+1.9
WAl 13] 1918]FFZ AF #HE-3 4m40[+1.0
A | 14| 1937[EHF EBF wWE-2 4m14[+0.7
8l A 15| 1871|@EH F& BHE-3 4m30[+0.8
48 A| 16| 215350 HiERE |EiyiE-2 4m66[+1.0
6l Al 17] 1915[;kF B= #HE-3 4m47]+1.1
5| A| 18] 3140|El& HPH |FH-2 4m55[+1.0
AA] 19] 2110[AE BZE BF-2 4m86[+1.2
W A 20] 2201[zR3y-% 44+ |AIE-3 4m73[+1.3
Al 21] 3132]RO #&m 7=H-3 5mi11[+1.4
B 1| 2148|FEE BEE [Bsid- 3m08[+0.8

B| 2| 8186| FHMEFIE A&R-2 DNS

Bl 3] 2124|858 FEH BE-1 DNS
B| 4] 290710 =4 ¥ABRTE - 3 3m05{+0.8
B| 5| 3481]|#EE & HE-2 2m68[+1.1

B 6| 2845|EIH EE A&-2 DNS

B 7] 2844|RiIJIl FX A&-2 DNS
B| 8] 2151/MIl BRthzE  [H4iE-2 2m66{+0.6
B| 9] 3440|&)Il ES aim-2 3m34[+0.6

Bl 10| 3476|;I1f% K= HE-2 DNS
B| 11| 2838|2H &F& A&-2 2m79{+0.4
B| 12| 3139|FEA #%N FRE-1 2m68[+1.5
B| 13] 3699|F%AR &E HF-2 3m37{+0.6
B| 14| 2230|585 FZ BlfE-2 3m45[+1.5
B| 15/ 2017[lLA& Fifn FHRIUF-3 3m46[+0.7
B| 16/ 3473|FH ﬂﬁ HE-2 3m39[+1.1
B| 17| 3480|# Lt BESE BHE-2 3m14/+0.9
B[ 18] 2231[/h#k 1%% BlfE-2 3m61[+1.2
B| 19] 2306|&=ARFIEHE BILUhE-3 3m75[+1.3
B | 20| 3428|ith#t FEE gILUhE-2 3m62[+1.5
B| 21| 3437|@JIl == BILUPE-2 3m09{+2.0
B| 22| 3477|miE L= BHE-2 3m67[+1.5
B | 23] 3700/fA#% WEFE HF-2 3m69[+1.8
B | 24| 2108|JIlix BARE |HF-2 3m69[+1.2
B | 25| 1939|&hsh EMR -2 4m05]+1.3




£F _ n _ mpes

N atmog| Fon— % _HI_| BiE-FF ftx |

Y
Al 1| 1500 =48 =B _|‘FHH-] 5ma7
Al 2[ 1506|H% AKX |TFHE-1 5m16
Al 3| 1939|#N EMl [fHF-2 DNS
A 4]  2914[ET #5 [#BRFAE-3 5m66
A 5|  2910[KPE  # FABR PG -3 5m21
Al 6] 3434[AEH=OH,  |[BlidER-2 [DNS
Al 7] 2913[/)kA EZHxE [#RFE-3 5m83
Al 8] 1935l BNE |#WFE-2 6m34
A 9| 1942[FEMt XRE |[HFE-2 6m60]
Al 10l 2907])11O0 =4  |#\FrFE-3 6m40]
Al 11 1941|228 4% |[wE-2 6m33
Al 12 3349)KH FEZXE |Ki#l-2 6m24
Al 13 798U #E EE-1 7m10]
Al 14 3137|FTF BX |[FH-2 7m42
Al 15 1911[{85K F£E [#BE-3 7m70}
Al 16] 1943[BEE FEZX [#F-2 8m72
WAL 17] 31413 oD  |FH-2 8m15
Al 18] 3381[ L% MKExE [#HE-2 7m66
Al 19 169054 EHE |7mFF-3 7m08
8l A| 20| 3134|EFHEHCH|[FE -1 8m0o|
P A 21| 2156(ARA FE [Biyim-2 9Im 30|
5P A 22]  1904[K# X |[#WFE-3 9Im1i7
Al A| 23] 1909|Eh Fji» [#F-3 9m23
WA 24 200738 %K _[FHRIE-3 11m31
20 A[ 25| 3135/54fE MR |FRH-3 10m29




#£F e 5

Eyb (e Fon—| £ Bl FilE -7 | E08k
1 35| E5 RE TE [KF-3 14m99
2|  2156|ARE ZEE |BrHE 2 17m96
3| 2306|EA[IELE |BILUpER-3 13m42
4] 3134 EFFEHSH |FRE -1 10m42
7 5| 3380[#:H &4 |ImEF-2 17m59
5 6] 1690|544 EHEB |IEF-3 18m81
1 7] 2007%& K _|FHKIF-3 24m?28
2 8] 3141 HD  |FH:2 23m38
3 9] 31354tk il |RE-3 22m33
4 10l 3137|FT BXR [FKHEH-2 21m67




